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Quiz V General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/11 T 8:30 am Form A quiz #

Name k%/ Name

(print name) ’ 4 (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.

1. Write out the complete ignic form of the following precipitation reaction by filling in the blanks.
The reaction does not need to be balanced. (2 pts each, 6 pt total)

Bal (ag) + Na;SO, (aq) > BaSO4 (s) + 2 Nal {aq)

Ba™ (aq) + 2/_1: (aq) + Zﬁ\jgn SOy (aq) = §b@§@% (s)+ 2Na'(aq) + 2 I'(aq)

2 Among the following compounds, circle all strong acids.(1/2 pt each, 4.5 pts total)

@ HCH;0,  Ca(OH),, Ny (H,80,) LiOH  HF CH,;COOH

3 Complete the following gas evolution reaction. (4 pts each, 8 pts)

oo, > MO + C0Oy

4 For the following titration reaction, if you neutralize 25.7 mL 0of 0.25 M KOH with 55.8 mL ofa
HCl acid solution, what is the concentration of the HC1? Show work. (6 pts)

KOH + HCl = KCl + H,0
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Extra Credit: What is the oxidation™state o every atom in the\following compound. (3 pts
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Quiz V General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/11 T 8:30 am Form B quiz #

Name é @")/ Name

(print name) 4 (sign name) (I can’t read some of your handwriting )

Please show all work for full credit. If you show work you may also get partial credit.

1. Write out the complete ionic form of the following precipitation reaction by filling in the blanks.
The reaction does not need to be balanced. (2 pts each, 6 pt total)

Na; CO; (aq) + Ba (OH)(aq) > Ba COs(s) + 2 Na OH(aq)
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2 Among the following compounds, circle all strong bases.(1/2 pt each, 4.5 pts total)

R

HI HC,H0, Ca(OH)\ NH; H2S04 @ HF HNO; CH;COOH

2 Complete the following gas evolution reaction. (4 pts each, 8 pts)

nwon > Vs G6) U 0

é’- For the following titration reaction, if you neutralize 37.9 mL of 1.55 M KOH with 55.8 mL of
a HCl acid solution, what is the concentration of the HC1 ? Show work. (6 pts)

KOH + HCi —) KCl + H,O
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Extra Credit: What is the 0x1dat10g State of?évery al[ m in the following compound (3 pts) (_ Z) 0
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Quiz V General Chemistry I Lecture Spring 14 Dr, Hahn 20 pts 3/11 T 9:55 am Form A quiz #

Name k Cis Name

(print name) 4 (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.

1. Complete the following molecular form of the precipitation reaction give the net ionic equation for
the following reaction: (3 pts each, 6 pts)

MgCly(aq) + NayCOs(aq) > MgCO;(s) + 2NaCl (s)

P =
h\éT @+ (2 (aq) > MgCO; (s)

2. Among the following compounds, circle all weak acids.(1/2 pt each, 4.5 pts total)

. . : 0 ~
HI HC,H;0»"  Ca(OH), NH; H,S80, LiOH @F)” HNO; sCO0H

3 Complete the following acid base reaction. (4 pts cach, 8 pts)

@Nos + K@+ k MO, o+ H‘? i

For the following titration reaction if you neutralize a 1.5 M solution of HNO; of volume 250.0 mL
with a 0.55 M NaOH solution, how many mL of NaOH do you need? Show work. (6 pts)

HNO; + NaOH - NaNO; + H,0 , Mﬁt&H’ _ [C o
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Extra Credit: _What is the oxidation state of every atom in the followﬁg\compound (3 pts)
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Quiz V General Chemistry I Lecture Spring 14 Dr, Hahn 20 pts 3/11 T 9:55 am Form B quiz #

Name /Q | W Name

(print name) ! 4 (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.

1. Complete the following molecular form of the precipitation reaction give the net ionic equation for
the following reaction: (3 pts each, 6 pts)

Pb(NOs),(aq) + 2 Nal(aq) > Pbl(s) + 2NaNO; (s)

e Sl s> Phly

2 Among the following compounds, circle m@)a pt each, 4.5 pts total)

HI HCH:;O0,  Ca(OH); \NH; H,50, LiOH HF HNO; CH:COOH

3 Complete the following acid base reaction. (4 pts each, 8 pts)

HCl + LiOH > LI ¥4 + X,

4 For the following titration reaction if you neutralize a 0.250 M solution of HNO; of volume 73.7

mL witha 1.02 M NaOH solution, how many mL of NaOH do you need? Show work. (6 pts)

HNO; + IfaOHj}} NaNO; + H,0 50/'4
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Extra Credit: What is the Oxidation staté of every atom i lowing compound. (3 pts)
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Quiz V General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/11 T 8:30 am Form A quiz #

Name Name
(print name) (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.

1. Write out the complete ionic form of the following precipitation reaction by filling in the blanks.
The reaction does not need to be balanced. (2 pts each, 6 pt total)

Bal: (aq) + NapSO4(aq) 2 BaS04 (s) + 2 Nal{aq)

Ba? (aq) +  (a@)+ _____ + SOs(aq)> (s)+ 2Na"(aq) + 2 T (aq)
2 Among the following compounds, circle all strong acids.(1/2 pt each, 4.5 pts total)

HI HC,H;0, Ca(OH). NH; H,S0, LiOH HF HNO; CH;COOH
3 Complete the following gas evolution reaction. (4 pts each, 8 pts)

H,CO; =2 +

4  For the following titration reaction, if you neutralize 25.7 mL of 0.25 M KOH with 55.8 mL ofa
HCI acid solution, what is the concentration of the HC1? Show work. (6 pts)

KOH + HCl - KCI + H:0

Extra Credit: What is the oxidation state of every atom in the following compound. (3 pts)
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Quiz V General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/11 T 8:30 am Form B quiz # {"-"

Name Name .
(print name) (sign name) (I can’t read some of your handwriting, )

Please show all work for full credit. If you show work you may also get partial credit.

1. Write out the complete ionic form of the fdllowing precipitation reaction by filling in the blanks.
The reaction does not need to be balanced. (2 pts each, 6 pt total)
Na; CO; (ag) + Ba (OH)x(aq) = Ba COs(s) + 2 Na OH(aq)
MNa® +__ (aq)+ Ba(aq) + 20H(ag) >BaCO(s) + _ _ (aQ) + _ ____ (aq)
2 Among the following compounds, circle all strong bases.(1/2 pt each, 4.5 pts total)
HI HGH;0,  Ca(OH),- NH; H,S80, LiOH HF HNO; CH;COOH

2 Complete the following gas evolution reaction. (4 pts each, 8 pts)

NH,OH -> +

4 For the following titration reaction, if you neutralize 37.9 mL of 1.55 M KOH with 55.8 mL of
a HCl acid solution, what is the concentration of the HCl 7  Show work. (6 pts)

KOH + HCI = KCI + H,0O

Extra Credit: What is the oxidation state of every atom in the following compound. (3 pts)
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| Quiz V General ChemistryILecture Spring 14 Dr. Hahn 20 pts 3/11 T 9:55 am Form A quiz # 5 "{kf

Name _ Name
(print name) (sign name) (I can’t read some of your handwriting. )

Please show all work for full credit. If you show work you may also get partial credit.

1. Complete the following molecular form of the precipitation reaction give the net ionic equation for
the following reaction: (3 pts each, 6 pts)

MgCl, (aq) + NayCOs(aq) - MgCOs(s) + 2NaCl (s)

(aq) + (ag) > MgCO; (s)

2. Among the following compounds, circle all weak acids.(1/2 pt each, 4.5 pts total)

HI HGC,H;0, - Ca(OH), NH; H,S0, LiOH HF HNO; CH;COOH
3 Complete the following acid base reaction. (4 pts 'each, 8 pts)
HNO; + KOH~=> +

For the following titration réaction if you neutralize a 1.5 M solution of HNO; of volume 250.0 mL
with a 0.55 M NaOH solution, how many mL of NaOH do youneed? Show work. (6 pts)

HNO; + NaOH 2 NaNO; + H,0

Extra Credit: _What is the oxidation state of every atom in the following compound. (3 pts)
\ S/r\ )
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Quiz V General Chemistry I Lecture Spring 14 Dr. Hahn 20 pts 3/11 T 9:55 am Form B quiz# 2 “(;

Name Name .
(print name) (sign name) (I can’t read some of your handwriting.)

Please show all work for full credit. If you show work you may also get partial credit.

1. Compilete the following molecular form of the precipitation reaction give the net ionic equation for
the following reaction: (3 pts each, 6 pts)

Pb(NOs):(aq) + 2 Nal(aq) = PbL (s) + 2NaNO; (s)

P )+ _ (@> ()

2 Among the following compounds, circle all weak bases.(1/2 pt each, 4.5 pts total)

HI HC,H;0, Ca(OH), NH; H,S0, LiOH HF HNOs CH;COOH

3 Complete the following acid base reaction. (4 pts each, 8 pts)

HCl + LiOH=> +

4 For the following titration reaction if you neutralize a 0.250 M solution of HNQ; of volume 73.7

mE witha 1.02 M NaOH solution, how many mL of NaOH do you need? Show work. (6 pts)

_HNO3 + NaQH = NaNO; + H,O

Extra Credit:  What is the oxidation state of every atom in the following compound. (3 pts)
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